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Faults (L1)[AT,DT]: [0.0373993, O.

FFaults (PS): [0.0374833509, 3.9
Faults (PC): [0.037483359, 3.9

Shot #: 2614, Param Tree: 72
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= Overcurrent Trip (DCPS)
F Auctioneered Data (idl)

T

E Condjtioned Data (DCPS), Limits: [-0.75000000, 0.750Q0000]
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—Full Alction (DCPS),ILimit = 356.06000, Max
- Action (idl), Max = 1459.07, End Val.= 1459
: Full Action (idl), Limit = 356.000, Max.=145
L Shot #: 2614, Param Tree: 72

—Fault Time: 1.3260802

: Faults (L1) [AT,DT]: [0.0373993, 0.0278449]

.=1459.2596, End Val. 1459.0143+

D.32, End f/al. 1459.07

time

E_IDL, éircular, [-0.0b718547, 25.6145]

DCPS, Circular, [-0.0071854734, 25.
IDL, Shaped [Displaced], [-0.00718
DCPS, Shaped [Displaced], [-0.00Q,
Shot #: 2614, Param Tree: 72
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54734, 25.014

25.0145]
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